PHYS 211 College Physics |
Exam 2B

October 4, 2017
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1. For the first 10.0 km of a race, a runner averages a velocity of 15.0 km/h. For the next
5.0 km he averages 8.0 km/h, and for the last 10.0 km, he averages 3.0 km/h.

On the chart below, construct to scale, the position-time graph for the runner.
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2. A game begins with a coin toss. The referee tosses the coin with an initial vetitcal velocity of 12.00
m/s.
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a. How long is it in the air? T G

b. How high does the coin go? «7, Y7 i
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3. An eagle is flying horizontally at 12.5 m/s 10.0 meters above the ground with a fish in its claws. It
accidentally drops the fish.

What is the of the magnitude and direction of the fish's velocity when it hits ghe ground?ﬁw
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b. Direction 7 ’.2 F
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